TEST 1
I. Choose the option among A, B, C, or D provided the one whose underlined part pronounced differently from others.

01. A.  chemist
B.  check
C.  China
D.  children
02. A.  hardship
B.  garment
C.  garlic
D.  carry
03. A.  bear 
B.  clear
C.  near
D.  dear

II. Choose the option among A, B, C, or D provided the one whose stress pattern is different from others.

04. A.  determine 
B.  excellent
C.  Capital
D.  Continent
05. A.  cultivate
B.  Latitude
C.  Disaster
D.  Desperate
III. Read the following passage carefully and choose from the four given options (marked A, B, C or D) one best solution to fill in each of the gaps below.     



Nowadays people are more aware that wildlife all over the world is in danger. Many species of animals are threatened, and could easily become (06)___ if we do not make an effort to protect them. There are many reasons for this. In some cases, animals are hunted for their fur or for other valuable parts of their bodies. Some birds, (07)___ as parrots are caught alive and sold as pets. For many animals and birds, the problem is that their habitat-the place where they live-is disappearing. More (08)___ is used for farms, for houses or industry, and there are fewer open spaces than there once were. Farmers use powerful chemicals to help them grow better crops, but these chemicals pollute (09)___ environment and harm wildlife. The most successful animal on earth-human beings-will soon be the only ones left, (10)___ we can solve this problem.

06. A.  disappeared
B.  lost
C.  extinct
D.  empty 

07. A.  like
B.  where
C.  such
D.  or
08. A.  soil
B.  area
C.  earth
D.  land
09. A.  a
B.  that
C.  an
D.  the
       10. A.  unless 
          B.  if


          C.  however
                     D.  because
IV. Choose the option among A, B, C, or D provided the one whose underlined part needs correcting.

11.  Because they had spent too many time considering the new contract, the students lost the opportunity to lease the apartment.   A.  Because  B.  lost the opportunity  C.  too many
D.  considering
12.  These televisions are all too expensive for we to buy at this time, but perhaps we will return later.

A.  we
B.  all too expensive
C.  These
D.  this time
13.  The students are going to hearing three short conversations about food.

A.  hearing three short
B.  The students
C.  going
D.  about food
14.  Heavily polluted factories will be closed down sooner or latest.

A.  latest 
B.  sooner 
C.  be closed
D.  Heavily 
15.  I will never forget what has he done for me.

A.  has he 
B.  for me
C.  forget
D.  I will 
V. Choose the option among A, B, C, or D provided the one whose underlined part pronounced differently from others.

16.  There are many factors contributing to air pollution.

A.  Factors contributing to air pollution are numerous.
B.  Air pollution is the result of burning forests.
C.  Air pollution results in many consequences.
D.  Air pollution is contributing to these phenomena.
17.  surfing / net / I / enjoy / but / have / I / don’t / time/ it.

A.  I enjoy surfing on the net but I don’t have much time for it.
B.  I enjoy surfing net but I don’t have many time for it.
C.  I enjoy surfing net but I don’t have a few time for it.
D.  I enjoy surfing the net but I don’t have few time for it.
18.  I don’t think Jerry will win the tennis match.

A.  In my opinion, Jerry will not likely to win the tennis match.
B.  I will never think Jerry will win the tennis match.
C.  The fact is that Jerry won’t win the tennis match.
D.  Jerry will win the tennis match, I don’t think that.
VI. Choose the option among A, B, C, or D provided the best one to complete each of the following incomplete sentences.

19.  He asked me________ home the day before.

A.  what time I will leave 
B.  what time I left 
C.  what time I had left
D.  what time I leave
20.  “Oh, I’m really sorry!” ~ “______________.”

A.  That’s all right 
B.  Thanks
C.  Yes, why?
D.  It was a pleasure
21.  Although he was________, he agreed to play tennis with me.

A.  exhaustion
B.  exhausting
C.  exhausted 
D.  exhaustive
22.  “Do you like the weather here?”   ~ “I wish it_________.”

A.  doesn’t rain
B.  won’t rain
C.  didn’t rain
D.  hadn’t rained
23.  In order to avoid boredom, the most important thing is to keep oneself ______. 

A.  occupational
B.  occupation
C.  Occupant
D.  Occupied
24.  “You look nice today. I like your new hairstyle.”  ~ “________________.”

A.  It’s nice of you to think so
B.  Shall I? Thanks
C.  Oh well done!

D.  I feel interesting to hear that
25.  I have to announce that the manager cannot attend our party today,_____ is a pity.

A.  who
B.  which 
C.  that
D.  what
26.  We can____ not only through words but also through body language.

A.  communicate
B.  transfer
C.  talk
D.  interpret
27.  They spoke_______ for us to understand.

A.  quickly enough
B.  quickly so
C.  quick enough
D.  so quickly
28.  ______ has he behaved like that before.

A.  Never
B.  When
C.  For
D.  Only by
29.  The classroom_________ when the teacher arrived.

A.  was cleaning
B.  is cleaned
C.  was cleaned 
D.  was being cleaned
30.  ______ and interest are the two major factors that make you succeed in your work.

A.  Friendly
B.  Friendship
C.  Unfriendly
D.  Friendliness

31.  The more electricity  you use,______.

A.  your bill will be higher
B.  the higher will be your bill
C.  the higher your bill will be
D.  the highest your bill will be
32.  “ More coffee? Anybody?”  ~ “ ____________.”

A.  I don’t agree, I’m afraid B.  Yes, please
C.  I’d love to
D.  It’s right I think 
33.  By 2050, medical technology_____ many diseases.

A.  conquered
B.  has conquered
C.  is conquering
D.  will have conquered
34.  After finishing the presentation, I suggested_____ to the cinema.

A.  that we to go
B.  going 
C.  we going
D.  us to go
35.  People who_____ crimes of violence should be punished.

A.  commit
B.  cause
C.  create
D.  make
VII. Read the following passage carefully and choose from the four given options (marked A, B, C or D) one best solution finish each of the questions that follow.     



Along with jogging and swimming, cycling is one of the best all-round forms of exercise. It can help to increase your strength and energy, giving you more efficient muscles and stronger heart. But increasing your strength is not the only advantage of cycling. Because you’re not carrying the weight of your body on your feet, it’s a good form of exercise for people with painful feet or backs. However, with all forms of exercise it’s important to start slowly and build up gently. Doing too much too quickly can damage muscles that aren’t used to working. If you have any doubts about taking up cycling for health reasons, talk to your doctor and ask his/her advice.


Ideally you should be cycling at least two or three times a week. For the exercise to be doing you good, you should get a little out of breath. Don’t worry that if you begin to lose your breath, it could be dangerous and there must be something wrong with your heart. This is simply not true; shortness of breath shows that the exercise is having the right effect. However, if you find you are in pain then you should stop and take a rest, at least two or three times a week.

36.  According to the writer, it is best to go cycling___.

A.  once a week

B.  at least two or three times a month
C.  at least two or three times a week
D.  every day
37.  You should not worry about the shortness of breath because___.

A.  it shows that there is something wrong with your heart
B.  it is a sign of exercise having the right effect
C.  it shows that you should stop and take a rest
D.  it is a sign of your getting rid of your heart problem
38.  People with back problems might go cycling because___.

A.  it helps them to relieve their backache
B.  it helps to make their backs become stronger
C.  it enables them to carry the weight of their body on their feet
D.  it does not make them carry the weight of their body on their feet
39.  Which of the following is NOT included in the advantages of cycling?

A.  Increasing you strength and energy
B.  Making you look younger 
       C.  Giving you better muscles   


         D.  Giving you a stronger heart
40.  All forms of exercise must be started___.

A.  gradually
B.  quickly
C.  violently
D.  strenuously
---------------------------THE END----------------------------

TEST 2
I. Choose the option among A, B, C, or D provided the best one to complete each of the following incomplete sentences.

01.  “ More coffee? Anybody?”  ~ “ ____________.”

A.  I don’t agree, I’m afraid    B.  I’d love to
C.  Yes, please
D.  It’s right I think 
02.  “You look nice today. I like your new hairstyle.”  ~ “________________.”

A.  It’s nice of you to think so
B.  Oh well done!
C.  I feel interesting to hear that
D.  Shall I? Thanks
03.  In order to avoid boredom, the most important thing is to keep oneself ______. 

A.  occupational
B.  occupation
C.  occupied
D.  occupant
04.  The more electricity  you use,______.

A.  the higher will be your bill
B.  the higher your bill will be
C.  the highest your bill will be
D.  your bill will be higher
05.  The classroom_________ when the teacher arrived.

A.  is cleaned
B.  was being cleaned
C.  was cleaning
D.  was cleaned 
06.  After finishing the presentation, I suggested_____ to the cinema.

A.  going 
B.  us to go
C.  we going
D.  that we to go
07.  “Oh, I’m really sorry!” ~ “______________.”

A.  Yes, why?
B.  It was a pleasure
C.  That’s all right 
D.  Thanks
08.  ______ and interest are the two major factors that make you succeed in your work.

A.  Friendship
B.  Friendliness
C.  Friendly
D.  Unfriendly
09.  They spoke_______ for us to understand.

A.  quick enough
B.  so quickly
C.  quickly enough
D.  quickly so
10.  ______ has he behaved like that before.

A.  For
B.  When
C.  Never
D.  Only by
11.  We can____ not only through words but also through body language.

A.  interpret
B.  transfer
C.  communicate
D.  talk

12.  I have to announce that the manager cannot attend our party today,_____ is a pity.

A.  that
B.  what
C.  which 
D.  who
13.  “Do you like the weather here?”   ~ “I wish it_________.”

A.  hadn’t rained
B.  won’t rain
C.  doesn’t rain
D.  didn’t rain
14.  Although he was________, he agreed to play tennis with me.

A.  exhaustive
B.  exhausting
C.  exhausted 
D.  exhaustion
15.  He asked me________ home the day before.

A.  what time I will leave 
B.  what time I leave
C.  what time I had left
D.  what time I left 
16.  By 2050, medical technology_____ many diseases.

A.  conquered
B.  is conquering
C.  has conquered
D.  will have conquered
17.  People who_____ crimes of violence should be punished.

A.  create
B.  make
C.  commit
D.  cause
II. Choose the option among A, B, C, or D provided the one whose underlined part pronounced differently from others.

18. A.  carry
B.  hardship
C.  garlic
D.  garment
19. A.  near

B.  dear

C.  bear 
D.  clear
20. A.  China
B.  chemist
C.  children
D.  check
III. Choose the option among A, B, C, or D provided the one whose stress pattern is different from others.

21. A.  capital
B.  excellent
C.  determine 
D.  continent
22. A.  latitude
B.  desperate
C.  cultivate
D.  disaster
IV. Choose the option among A, B, C, or D provided the one whose underlined part needs correcting.

23.  Heavily polluted factories will be closed down sooner or latest.

A.  latest 
B.  be closed
C.  sooner 
D.  Heavily 
24.  Because they had spent too many time considering the new contract, the students lost the opportunity to lease the apartment.  A.  too many
B.  Because
C.  lost the opportunity
D.  considering
25.  The students are going to hearing three short conversations about food.

A.  about food
B.  hearing three short
C.  going
D.  The students
26.  These televisions are all too expensive for we to buy at this time, but perhaps we will return later.

A.  we
B.  These
C.  all too expensive
D.  this time
27.  I will never forget what has he done for me.

A.  has he 
B.  for me
C.  I will 
D.  forget
V. Choose the option among A, B, C, or D provided the one whose underlined part pronounced differently from others.

28.  I don’t think Jerry will win the tennis match.

A.  The fact is that Jerry won’t win the tennis match.
B.  Jerry will win the tennis match, I don’t think that.
C.  In my opinion, Jerry will not likely to win the tennis match.
D.  I will never think Jerry will win the tennis match.
29.  There are many factors contributing to air pollution.

A.  Air pollution is the result of burning forests.
B.  Air pollution is contributing to these phenomena.
C.  Air pollution results in many consequences.
D.  Factors contributing to air pollution are numerous.
30.  surfing / net / I / enjoy / but / have / I / don’t / time/ it.

A.  I enjoy surfing net but I don’t have many time for it.

B.  I enjoy surfing on the net but I don’t have much time for it.
C.  I enjoy surfing the net but I don’t have few time for it.
D.  I enjoy surfing net but I don’t have a few time for it.
VI. Read the following passage carefully and choose from the four given options (marked A, B, C or D) one best solution to fill in each of the gaps below.     



Nowadays people are more aware that wildlife all over the world is in danger. Many species of animals are threatened, and could easily become (31)___ if we do not make an effort to protect them. There are many reasons for this. In some cases, animals are hunted for their fur or for other valuable parts of their bodies. Some birds, (32)___ as parrots are caught alive and sold as pets. For many animals and birds, the problem is that their habitat-the place where they live-is disappearing. More (33)___ is used for farms, for houses or industry, and there are fewer open spaces than there once were. Farmers use powerful chemicals to help them grow better crops, but these chemicals pollute (34)___ environment and harm wildlife. The most successful animal on earth-human beings-will soon be the only ones left, (35)___ we can solve this problem.

31. A.  disappeared
B.  lost
C.  extinct
D.  empty 

32. A.  like
B.  where
C.  such
D.  or
33. A.  soil
B.  area
C.  earth
D.  land
34. A.  a
B.  that
C.  an
D.  the
        35. A.  unless 
         B.  if


          C.  however
                   D.  because
VII. Read the following passage carefully and choose from the four given options (marked A, B, C or D) one best solution finish each of the questions that follow.     



Along with jogging and swimming, cycling is one of the best all-round forms of exercise. It can help to increase your strength and energy, giving you more efficient muscles and stronger heart. But increasing your strength is not the only advantage of cycling. Because you’re not carrying the weight of your body on your feet, it’s a good form of exercise for people with painful feet or backs. However, with all forms of exercise it’s important to start slowly and build up gently. Doing too much too quickly can damage muscles that aren’t used to working. If you have any doubts about taking up cycling for health reasons, talk to your doctor and ask his/her advice.


Ideally you should be cycling at least two or three times a week. For the exercise to be doing you good, you should get a little out of breath. Don’t worry that if you begin to lose your breath, it could be dangerous and there must be something wrong with your heart. This is simply not true; shortness of breath shows that the exercise is having the right effect. However, if you find you are in pain then you should stop and take a rest, at least two or three times a week.

36.  According to the writer, it is best to go cycling___.

A.  at least two or three times a month
B.  every day
C.  at least two or three times a week
D.  once a week
37.  People with back problems might go cycling because___.

A.  it enables them to carry the weight of their body on their feet
B.  it does not make them carry the weight of their body on their feet
C.  it helps them to relieve their backache
D.  it helps to make their backs become stronger
38.  Which of the following is NOT included in the advantages of cycling?

A.  Increasing you strength and energy
B.  Making you look younger 
       C.  Giving you a stronger heart
                                 D.  Giving you better muscles   
39.  You should not worry about the shortness of breath because___.

A.  it is a sign of exercise having the right effect
B.  it is a sign of your getting rid of your heart problem
C.  it shows that there is something wrong with your heart
  D.  it shows that you should stop and take a rest
40.  All forms of exercise must be started___.

A.  violently
B.  strenuously
C.  quickly
D.  gradually
---------------------------THE END----------------------------

TEST 3
I. Choose the option among A, B, C, or D provided the one whose underlined part pronounced differently from others.

01. A.  chemist
B.  children
C.  China
D.  check
02. A.  carry
B.  garlic
C.  hardship
D.  garment
03. A.  bear 
B.  near

C.  dear

D.  clear
II. Choose the option among A, B, C, or D provided the best one to complete each of the following incomplete sentences.

04.  ______ has he behaved like that before.

A.  Never
B.  For
C.  When
D.  Only by
05.  We can____ not only through words but also through body language.

A.  communicate
B.  interpret
C.  transfer
D.  talk

06.  “ More coffee? Anybody?”  ~ “ ____________.”

A.  I don’t agree, I’m afraid  B.  It’s right I think 
C.  I’d love to
D.  Yes, please
07.  In order to avoid boredom, the most important thing is to keep oneself ______. 

A.  occupational
B.  occupant
C.  occupation
D.  occupied
08.  “Oh, I’m really sorry!” ~ “______________.”

A.  That’s all right 
B.  It was a pleasure
C.  Yes, why?
D.  Thanks
09.  The classroom_________ when the teacher arrived.

A.  was cleaning
B.  is cleaned
C.  was cleaned 
D.  was being cleaned
10.  ______ and interest are the two major factors that make you succeed in your work.

A.  Friendliness
B.  Unfriendly
C.  Friendly
D.  Friendship

11.  They spoke_______ for us to understand.

A.  quick enough
B.  quickly enough
C.  quickly so
D.  so quickly
12.  “Do you like the weather here?”   ~ “I wish it_________.”

A.  doesn’t rain
B.  won’t rain
C.  hadn’t rained
D.  didn’t rain
13.  After finishing the presentation, I suggested_____ to the cinema.

A.  that we to go
B.  going 
C.  us to go
D.  we going
14.  Although he was________, he agreed to play tennis with me.

A.  exhausting
B.  exhaustive
C.  exhausted 
D.  exhaustion
15.  By 2050, medical technology_____ many diseases.

A.  has conquered
B.  is conquering
C.  conquered
D.  will have conquered
16.  “You look nice today. I like your new hairstyle.”  ~ “________________.”

A.  It’s nice of you to think so
B.  Shall I? Thanks
C.  Oh well done!

D.  I feel interesting to hear that
17.  He asked me________ home the day before.

A.  what time I had left
B.  what time I will leave 
C.  what time I leave
D.  what time I left 
18.  The more electricity  you use,______.

A.  your bill will be higher
B.  the higher will be your bill
C.  the higher your bill will be
D.  the highest your bill will be
19.  I have to announce that the manager cannot attend our party today,_____ is a pity.

A.  what
B.  that
C.  who
D.  which 
20.  People who_____ crimes of violence should be punished.

A.  make
B.  cause
C.  commit
D.  create
III. Choose the option among A, B, C, or D provided the one whose stress pattern is different from others.

21. A.  desperate
B.  disaster
C.  cultivate
D.  latitude
22. A.  excellent
B.  capital
C.  determine 
D.  continent
IV. Read the following passage carefully and choose from the four given options (marked A, B, C or D) one best solution to fill in each of the gaps below.     



Nowadays people are more aware that wildlife all over the world is in danger. Many species of animals are threatened, and could easily become (23)___ if we do not make an effort to protect them. There are many reasons for this. In some cases, animals are hunted for their fur or for other valuable parts of their bodies. Some birds, (24)___ as parrots are caught alive and sold as pets. For many animals and birds, the problem is that their habitat-the place where they live-is disappearing. More (25)___ is used for farms, for houses or industry, and there are fewer open spaces than there once were. Farmers use powerful chemicals to help them grow better crops, but these chemicals pollute (26)___ environment and harm wildlife. The most successful animal on earth-human beings-will soon be the only ones left, (27)___ we can solve this problem.

23. A.  disappeared
B.  lost
C.  extinct
D.  empty 

24. A.  like
B.  where
C.  such
D.  or
25. A.  soil
B.  area
C.  earth
D.  land
26. A.  a
B.  that
C.  an
D.  the
        27. A.  unless 
         B.  if


          C.  however
                   D.  because
V. Choose the option among A, B, C, or D provided the one whose underlined part pronounced differently from others.

28.  There are many factors contributing to air pollution.

A.  Air pollution is the result of burning forests.
B.  Air pollution is contributing to these phenomena.
C.  Factors contributing to air pollution are numerous.
D.  Air pollution results in many consequences.
29.  surfing / net / I / enjoy / but / have / I / don’t / time/ it.

A.  I enjoy surfing on the net but I don’t have much time for it.
B.  I enjoy surfing net but I don’t have many time for it.
C.  I enjoy surfing the net but I don’t have few time for it.
D.  I enjoy surfing net but I don’t have a few time for it.
30.  I don’t think Jerry will win the tennis match.

A.  In my opinion, Jerry will not likely to win the tennis match.
B.  The fact is that Jerry won’t win the tennis match.
C.  I will never think Jerry will win the tennis match.
D.  Jerry will win the tennis match, I don’t think that.
VI. Choose the option among A, B, C, or D provided the one whose underlined part needs correcting.

31.  These televisions are all too expensive for we to buy at this time, but perhaps we will return later.

A.  all too expensive
B.  we
C.  this time
D.  These
32.  The students are going to hearing three short conversations about food.

A.  hearing three short
B.  going
C.  The students
D.  about food
33.  I will never forget what has he done for me.

A.  forget
B.  has he 
C.  I will 
D.  for me
34.  Because they had spent too many time considering the new contract, the students lost the opportunity to lease the apartment.   A.  lost the opportunity   B.  considering
C.  Because
D.  too many
35.  Heavily polluted factories will be closed down sooner or latest.

A.  be closed
B.  Heavily 
C.  latest 
D.  sooner 
VII. Read the following passage carefully and choose from the four given options (marked A, B, C or D) one best solution finish each of the questions that follow.     



Along with jogging and swimming, cycling is one of the best all-round forms of exercise. It can help to increase your strength and energy, giving you more efficient muscles and stronger heart. But increasing your strength is not the only advantage of cycling. Because you’re not carrying the weight of your body on your feet, it’s a good form of exercise for people with painful feet or backs. However, with all forms of exercise it’s important to start slowly and build up gently. Doing too much too quickly can damage muscles that aren’t used to working. If you have any doubts about taking up cycling for health reasons, talk to your doctor and ask his/her advice.


Ideally you should be cycling at least two or three times a week. For the exercise to be doing you good, you should get a little out of breath. Don’t worry that if you begin to lose your breath, it could be dangerous and there must be something wrong with your heart. This is simply not true; shortness of breath shows that the exercise is having the right effect. However, if you find you are in pain then you should stop and take a rest, at least two or three times a week.

36.  People with back problems might go cycling because___.

A.  it does not make them carry the weight of their body on their feet
B.  it enables them to carry the weight of their body on their feet
C.  it helps to make their backs become stronger
D.  it helps them to relieve their backache
37.  You should not worry about the shortness of breath because___.

A.  it is a sign of your getting rid of your heart problem

B.  it is a sign of exercise having the right effect
C.  it shows that there is something wrong with your heart  
D.  it shows that you should stop and take a rest
38.  All forms of exercise must be started___.

A.  gradually
B.  quickly
C.  strenuously
D.  violently
39.  According to the writer, it is best to go cycling___.

A.  at least two or three times a week
B.  once a week
C.  at least two or three times a month
D.  every day
40.  Which of the following is NOT included in the advantages of cycling?

        A.  Making you look younger 
                                  B.  Giving you better muscles   
C.  Giving you a stronger heart
D.  Increasing you strength and energy
---------------------------THE END----------------------------

TEST 4
I. Choose the option among A, B, C, or D provided the best one to complete each of the following incomplete sentences.

01.  ______ has he behaved like that before.

A.  Never
B.  For
C.  Only by
D.  When
02.  “You look nice today. I like your new hairstyle.”  ~ “________________.”

A.  It’s nice of you to think so
B.  Oh well done!
C.  Shall I? Thanks

D.  I feel interesting to hear that
03.  I have to announce that the manager cannot attend our party today,_____ is a pity.

A.  which 
B.  that
C.  who
D.  what
04.  People who_____ crimes of violence should be punished.

A.  create
B.  make
C.  cause
D.  commit
05.  The classroom_________ when the teacher arrived.

A.  is cleaned
B.  was cleaned 
C.  was being cleaned
D.  was cleaning
06.  We can____ not only through words but also through body language.

A.  interpret
B.  talk
C.  transfer
D.  communicate
07.  “Do you like the weather here?”   ~ “I wish it_________.”

A.  doesn’t rain
B.  didn’t rain
C.  won’t rain
D.  hadn’t rained
08.  ______ and interest are the two major factors that make you succeed in your work.

A.  Friendliness
B.  Friendly
C.  Friendship

D.  Unfriendly
09.  In order to avoid boredom, the most important thing is to keep oneself ______. 

A.  occupant
B.  occupied
C.  occupation
D.  occupational
10.  He asked me________ home the day before.

A.  what time I leave
B.  what time I will leave 
C.  what time I had left
D.  what time I left 
11.  “ More coffee? Anybody?”  ~ “ ____________.”

A.  Yes, please
B.  It’s right I think 
C.  I don’t agree, I’m afraid
D.  I’d love to
12.  They spoke_______ for us to understand.

A.  quick enough
B.  so quickly
C.  quickly enough
D.  quickly so
13.  By 2050, medical technology_____ many diseases.

A.  conquered
B.  is conquering
C.  has conquered
D.  will have conquered
14.  Although he was________, he agreed to play tennis with me.

A.  exhausted 
B.  exhaustive
C.  exhausting
D.  exhaustion
15.  The more electricity  you use,______.

A.  the higher will be your bill
B.  the higher your bill will be
C.  your bill will be higher
D.  the highest your bill will be
16.  “Oh, I’m really sorry!” ~ “______________.”

A.  Thanks
B.  That’s all right 
C.  It was a pleasure
D.  Yes, why?
17.  After finishing the presentation, I suggested_____ to the cinema.

A.  we going
B.  us to go
C.  that we to go
D.  going 
II. Choose the option among A, B, C, or D provided the one whose stress pattern is different from others.

18. A.  disaster
B.  cultivate
C.  latitude
D.  desperate
19. A.  determine 
B.  excellent
C.  capital
D.  continent
III. Read the following passage carefully and choose from the four given options (marked A, B, C or D) one best solution finish each of the questions that follow.     



Along with jogging and swimming, cycling is one of the best all-round forms of exercise. It can help to increase your strength and energy, giving you more efficient muscles and stronger heart. But increasing your strength is not the only advantage of cycling. Because you’re not carrying the weight of your body on your feet, it’s a good form of exercise for people with painful feet or backs. However, with all forms of exercise it’s important to start slowly and build up gently. Doing too much too quickly can damage muscles that aren’t used to working. If you have any doubts about taking up cycling for health reasons, talk to your doctor and ask his/her advice.


Ideally you should be cycling at least two or three times a week. For the exercise to be doing you good, you should get a little out of breath. Don’t worry that if you begin to lose your breath, it could be dangerous and there must be something wrong with your heart. This is simply not true; shortness of breath shows that the exercise is having the right effect. However, if you find you are in pain then you should stop and take a rest, at least two or three times a week.

20.  According to the writer, it is best to go cycling___.

A.  once a week

B.  every day
C.  at least two or three times a week
D.  at least two or three times a month
21.  People with back problems might go cycling because___.

A.  it does not make them carry the weight of their body on their feet
B.  it helps them to relieve their backache
C.  it helps to make their backs become stronger
D.  it enables them to carry the weight of their body on their feet
22.  You should not worry about the shortness of breath because___.

A.  it shows that you should stop and take a rest
B.  it is a sign of your getting rid of your heart problem
C.  it is a sign of exercise having the right effect
D.  it shows that there is something wrong with your heart
23.  All forms of exercise must be started___.

A.  quickly
B.  gradually
C.  strenuously
D.  violently
24.  Which of the following is NOT included in the advantages of cycling?

A.  Increasing you strength and energy
B.  Making you look younger 
       C.  Giving you a stronger heart
                                 D.  Giving you better muscles   
IV. Read the following passage carefully and choose from the four given options (marked A, B, C or D) one best solution to fill in each of the gaps below.     



Nowadays people are more aware that wildlife all over the world is in danger. Many species of animals are threatened, and could easily become (25)___ if we do not make an effort to protect them. There are many reasons for this. In some cases, animals are hunted for their fur or for other valuable parts of their bodies. Some birds, (26)___ as parrots are caught alive and sold as pets. For many animals and birds, the problem is that their habitat-the place where they live-is disappearing. More (27)___ is used for farms, for houses or industry, and there are fewer open spaces than there once were. Farmers use powerful chemicals to help them grow better crops, but these chemicals pollute (28)___ environment and harm wildlife. The most successful animal on earth-human beings-will soon be the only ones left, (29)___ we can solve this problem.

25. A.  disappeared
B.  lost
C.  extinct
D.  empty 

26. A.  like
B.  where
C.  such
D.  or
27. A.  soil
B.  area
C.  earth
D.  land
28. A.  a
B.  that
C.  an
D.  the
        29. A.  unless 
         B.  if


          C.  however
                   D.  because
V. Choose the option among A, B, C, or D provided the one whose underlined part pronounced differently from others.

30.  I don’t think Jerry will win the tennis match.

A.  In my opinion, Jerry will not likely to win the tennis match.
B.  Jerry will win the tennis match, I don’t think that.
C.  The fact is that Jerry won’t win the tennis match.
D.  I will never think Jerry will win the tennis match.
31.  surfing / net / I / enjoy / but / have / I / don’t / time/ it.

A.  I enjoy surfing on the net but I don’t have much time for it.
B.  I enjoy surfing net but I don’t have many time for it.
C.  I enjoy surfing net but I don’t have a few time for it.
D.  I enjoy surfing the net but I don’t have few time for it.
32.  There are many factors contributing to air pollution.

A.  Air pollution results in many consequences.
B.  Factors contributing to air pollution are numerous.
C.  Air pollution is the result of burning forests.
D.  Air pollution is contributing to these phenomena.
VI. Choose the option among A, B, C, or D provided the one whose underlined part needs correcting.

33.  The students are going to hearing three short conversations about food.

A.  about food
B.  hearing three short
C.  going
D.  The students
34.  Heavily polluted factories will be closed down sooner or latest.

A.  latest 
B.  be closed
C.  sooner 
D.  Heavily 
35.  I will never forget what has he done for me.

A.  has he 
B.  I will 
C.  for me
D.  forget
36.  These televisions are all too expensive for we to buy at this time, but perhaps we will return later.

A.  These
B.  all too expensive
C.  we
D.  this time
37.  Because they had spent too many time considering the new contract, the students lost the opportunity to lease the apartment.   A.  considering
B.  too many
C.  Because
D.  lost the opportunity
VII. Choose the option among A, B, C, or D provided the one whose underlined part pronounced differently from others.

38. A.  hardship
B.  garlic
C.  carry
D.  garment
39. A.  chemist
B.  China
C.  children
D.  check
40. A.  bear 
B.  dear

C.  clear
D.  near

---------------------------THE END----------------------------
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